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Questions

1 day =----mmmmemeeeee weeks.

4 x length of a side =

The perimeter of a rectangle is 128 cm, its lengthis 45 cm, What willbe its width.

If the area of a square is 121 cm3 then its perimeter willbe.

Whcih of the following is not the unit of area.

The length of a squre shsped field is 20 m then its perimeter will be.

The area of a square is 144 cm3, Find he length of its one side.

If the perimeter of a square is 24 cm then its area will be.

Perimeter of a square is 16 cm . Find the length of its one side.

Wha will be the aea of a square, if length of its side is 5 cm.
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117
30
12

. Perimeer of triangle
. Perimeter of Circle

Perimeter rectangle

. Perimeter of square

10 cm
14 cm
15 cm
25 cm

144 cm
11 cm
44 cm
88 cm

cm3
m2
km3
km

40 cm
60 cm
80 cm
100 cm

12 cm
16 cm
288 cm
20 cm

36 cm3
36 cm
40 cm
42 cm

32cm
4 cm
16 cm
8cm

25 cm3



